A Baseline 1Hz Light Pulse B Sleep Duration Bout Length
60 401 501
50 -
_ 304 i 40
E 401 N *
= £ -
£ 301 £ 204 E *
o £ 204
3 20 1
wv 104
104 104
0 . . T . . . " 0 T . 0 T .
0 6 12 18 24 0 6 12 18 24 Baseline 1Hzlight Baseline 1HzLight
Zeitgeber Time
C ) ) D Mean Peak Sleep
Baseline 1Hz Light Pulse Responsiveness Intensity
1.2 7 0.8 1 80 1
= 0.6 1 601
£0.8 £
£ © 5 o
= £0.4 - 8 404 o
3 E A *
S04 1 <
< 0.2 4 = 20
0 0.0 T T 0 v T
0 6 12 18 240 6 12 18 24 Baseline 1Hzlight Baseline 1HzLight

Zeitgeber Time



